ERRAROBREERT —IX—BISH—F 20255R8H3H (H) 2@#s48
= | =} iEA, A . f _
'U'?% 3 KEF  [EE] RSl ‘ (Xi8] ‘ [5¢7E8578] 11:50 ‘ S—k 12000
[xE%] 175 : 5,600,000 .~ 25& : 2,200,000 37 : 1,400,000 43 : 840,000 .~ 55& : 560,000
%5 FRERS /M %1 %2 17ERT 27E/ 3xEH
H2 I\?D‘/\‘I\ (?] H3 B ?);gg)ﬁm 8: ggzz%mﬁ B 312025/5/31 B 51 ?‘2?4/136% B
111 ] Bl 9¥r—no—X 0209 F4PUANIST () PSR 3 ERRF PSR BT PS5 3 EAREF
8] Fa7Y—0-2 fees) F4PUANIST 1:26.5(1.6) 7-7 3.6 | 1:25.2(1.0 5 37.4 | 1:25.10.2) 57 3.2
BR] DAILRS 21 (Ush) aa HEH (57.0) 4520 I (57.0) 45262 B (57.0) 450 0
WBFLBATY—E L1 & 484,057 ) SIES:71.1 YTATILN—R | SHEH:82.6 YaH—\o SER83.0 TUY IV IU T
7S —FT N v 3 B EEFRA 12(2025/6/21 R 8 [2025/5/10 SR 2025/2/4 )16
7YI—HITUvY K& (57.0) =® 13 X550 & 6 %5560 % 4 515550 we
Pl 2| [%] 2Y22 =7 o705 s e TS Y573 HRBA Y573 ERBA J1T5U—I50—8 (b
5] SR 0-0-0-0 FHHIS 1:39.5(1.8) 66 38.0 | 1:37.9(1.8) 5-4 37.0 | 1:38.8(1.2) 14-14-11-11 40.7
R] FATAT v — 4.7 FREHE (57.0) 440 0 HEE (57.0) 44018 BEE (5.0) 458 0
: SiE¥8:69.6 A7 TODR—JL S1E%4:69.8 NUA hO—F SiEM: - YvRIN—/R)L
FTUF 1 F—F (8] 3 EE g%)% 11: @2%%% B 5 12025/6/8 R 74 2025/4/20 B
2 IR e ¢1-0-6 DMMRU=LT5T @8 | o5%3 ) HS% 3 BT *jj%Bﬁﬂ%ﬂ
8] IrAFILEU—L(GB) 8:8:8:8 s 1:25.2(0.9) 12-11 36.9 | 1:25.2(0.8) 1-137.1 | 1:49.4(0.8)  1-1-1-1 42.0
84 Frankel (GB) 80.0 ERER (55.0) 470+4 BRAER (55.0) 466-2 FREFIE (55.0) 468-2
’ SIERL74.5 FHhAFIRY SE#:81.9 YW IRFa1— SIE#:79.8 TI—HZVT
FAT7— 0 R— i3 BARIL 4 2025/5/24 R 15(2025/4/26 SR 11(2025/4/5 Tl
PAT7—Yv R 1S (57.0) &= 8 X570 = Als 1400 1 915 0w
eY 4| %] E-F/XRO—L UK e P YSR3 HRBA Y573 ERBA SR 3 ERBA
5] ' A0—F 0-0-0-0 HRER 1:27.9(1.1) 11-11 36.5 | 1:26.2(0.4) 15-15 36.0 | 1:13.1(1.6) 14-13 36.9
K] W=5-yv7 720 EIRERE (5.0 4524 ERRE (5.0 44844 ERERE (64.0) 4443
: SIEE:77.7 DI RH DT SIE¥:81.3 PA T LAFINY SIE%8:75.9 TUHTI—V
7IT 17°|:|“— R [B] g 3§ ﬁﬁ%m E%%)Em 8 )7\ @%%21@ R 5 20\25/5/25\%51 3 )1\ ‘?2%361%§§m
gl 5| ] A=—Ea UK PO RBEE 5% 3 ERBT Y573 ERRT 553 BRBT
51\‘:"(\1"“’)(?“"_ 0-0-0-0 REIS 1:26.5(0.9) 14-14 35.6 | 1:19.002.2) 7-7 36.9 | 1:12.5(0.6) 3-337.7
BR] 19X Tv— e SR (57.0) 506+ PISER (57.0) 502+ SRR (57.0)_49-16
’ S1E#4:80.3 YIS /IKRAFIL SIER:68.6 PXUAYEIVR | SIEH:82.9 E=FAT#ILT
50— ¥3 /% EHE— 6 | 226/ 5 2| 2025/5/25 %7 3 4|55/ R
- N PIEIEE (55.0) C) A5 1300 B A5 1200 = A5 1200 HE
W 6| [ ELTa>Ush CeleZy) EE= 55 3 FRET ST 3 BB 553 FRT
8] ZIL—U>TN—h R FFEIIB 1:19.7(1.7) 23378 | 1:13.20.7) 87 38.6 | 1:12.6(0.1 2-2 38.3
BR] FATAIv— 84.5 TR (55.0) 456-4 EaRE (2.0 46242 REHE (55.0) 46044
: SIE¥8:69.7 VLT LA S¥E¥:77.4 Y21 TILN\DR SHE#:85.8 E—Y v IR
-j,(y\by yt I /(J%%;J) 115 3 259‘2?4/1%21@ ES 5 | 2025/6/7 R 57 ‘ 2592%361;%,%
4 RARS i s ) A 5% 3 ERBT Y573 ERRT 5T 3 ERBT
1\77—_7':"( e (UsA) 0-0-0-0 JREI2-T7 -4 1:26.2(0.6) 10-7 35.9 | 1:25.9(0.4) 12-12 36.8 | 1:13.8(1.1) 13-11 37.4
4] Freud (USA) 811 BHRE (52.0) 47248 BEERE (52.0) 464+4 BHERE (52.0) 460-2
’ SHE$4:82.9 YIS /INZAF)L S§E%1:82.3 DI—Ya SIBE.77.8 PAT VYUY R
A7 oA N—HL (6] 3 (@Eg%;nm 4 2;32.;3@6% BE 7 }?‘?2%%21@ o 5 13@2%3624 iR
58 K] E==2USH) 0-0-0-10 Sty E—F5 Y53 3 EARESF Y55 3 mREET Y55 3 EAREF
8] 747Uy /)= Saes 70-U—77—4 1:09.6(0.8) 2-237.4 | 1:19.801.8) 88 37.2 | 1:13.1(1.9) 22 38.3
BR] \—=YI54 78.3 SEEAAD (55.0) 450 0 FEFST (55.0) 45042 HEH (55.0) 448 0
: SiE:80.5 97 =5 $HE%:69.0 SILTLA SEER:76.1 By RI—IL
/\-:(:JT, _7=F— r3 = g%,)m 6 25(1)‘2?4/1%21@ ES 82025/5/31 W= 1 ?2?236?@?
59| & E-=2Um P HFFEA Y53 ERRT Y573 ERMT 53 ERRT
l\ =3vL== . 0-0-0-0 EdE— 1:26.3(0.7) 2-2 36.5 | 1:25.5(1.3) 8-6 37.3 | 1:25.6(1.7) 14-14 36.9
BR] F4—F1VNTH 79.7 TR (55.0) 4244 {ERARE (55.0) 42842 AIEE (55.0) 4266
) S¥E$:81.3 YIS /INZAFIL SHE#:79.9 Y aH—NA S¥ER:72.0 PSAATLAN—
5 5 H3E = 6 (2025/7/20 &8 9 2025/5/18 R 11(2025/4/20 Ll
IUD?T:F? (6] G1&fE (57.0 &) 2 Al 1150 B 8 Als 1400 = 6 Als 1200 B
10| Bl Z/-TL=v2 5@ Lelves FEHAIE Y% 3 BRBF 5% 3 BB YSH 3 HRBF
*3] TLTTANRY =Y aee e 1:09.8(0.0 22 37.7 | 1:25.30.4 1-137.0 | 1:14.1(1.6) 33 38.9
R] ARV p)bD 4 —7 806 EiEiE (67.0) 446 0 AHgisth (57.0) 446 0 A5t (57.0) 446
202““ RSP =LA COR: ) SigH:85.7 PARIL SIEB:80.1 Uy IYTU YT | SEMTA.9 PHIBTL—R
Y0uns /77 53//LE | grma | 5z
1 } Zm oo AR SH3 HRBF Y553 ERBT R 3R
- 00! 5 1:10.0(1.2) 8-6 37.2 1:34.9(1.4) 6-8 35.8 1:23.2(0.8 13-12 35.0
1 74 FILELT H g0 00 SEHE (55.0) 418 0 FIiER (55.0) 41844 KISt (55.0) 41442
’ Sig¥N:76.6 B IT =Y SIE¥74.7 Fa—-F4Uv S SIE%0:81.5 RSIFD—)L R
3 3 3/ TERE 13[2024/11/10 78
/\7]‘635‘ Lf JB] g%aé—nguu 0) (=%) 5 A‘sf‘ 1700 B s
Xl 27774 8-0-9 BOHA 5
a2 8] 7>Iz)L7 Ce0nce) s e 6 To12-13-15 41.2
4] Tiznow (USA) 0.0 TRHRY (52.0) 546 —
NBELHET Y ——IU 15 330.050 : SHE¥:40.9 Ev h=—
- JhHFI= HIE ?;J%) A " 2592%862% ES 8 2025/4/26 FR
7|13 18] Y52 -S=29— Uk yooz FEFA YSR3 EARBA Y5% 3 ERBA
51\1'2\77‘1{_ o 0-0-0-0 HFRE 1:20.1(2.1) 9-10 37.3 | 1:40.5(2.4) 6-6 40.2
§R] 71 —T1VNT b 79 Wi (55.0) 47248 ERIE (55.0) 464 —
DBEIEHT R —E )15 10450573 ) Sigkie6.3 VL TLA SIEM:69.3 SAR Ko TRy
j > — %3 F f“*féitﬁﬂ
s gss &
814 &1 5157 0-0-0-0 f“”aﬁ?‘ e
203 BEY Y —t—)U 15 506.0558 -
NA :EZ I\E‘J_? (B] TN SN %;n‘}%%ﬂu 53 29(32?2861;%5@ 9| 2025/5/4 FR 34 290‘2?{13635*&
8 |15 B RAT=2071 U 0002 SERS LBERCCU—FH (PRI | 5% 3 BRBT KEEER (BsRSER)
Bl NAP—T7TV2 0-0-0-0 BRT7—L 1:36.8(2.6)  5-5-5-4 39.9 | 1:40.0(2.4) 109 37.7 | 1:30.90.9)  6-6-6-6 40.1
BR] /Yy vYT4 7.6 SRHZE (54.0) 468-8 POEHf#E (55.0) 476 0 FEEREA, (55.0) 476-18
) Sief:—  L—IRPUYa SHER61.4 XAV vAEY B A e
¥1-- [EE/ER] [BF (TE) | HEEmE (h-i-B) | [RE—NIER x2- [#BEE Rl [BE] [£ERE]



ERRRROBERERT —I N—RBISH—F

2025%F8H3H (H) 2O#iR4E

@ WX
L—2® L—2@ L—23 L—2®
20255 7H12H 20255 6H21H 2025 68218 20255 5H31H
HEx ?EE_HRIS"HSOIEI ?7‘?_!\7[%\9‘1300\@\ ?I?‘_l|2RI9‘14OOIEI ?%HRI?‘MOOI’FEI
?£f3ﬂ RESF ?53?3% RESF P‘g??»ﬁ RESF :33;?3% REEF)
1| AZRKZ0OVE - - - E31:25.2157.0
2| PS4 TUwY = = = =
3| FTYF4T—F - - - -
4| PAT7—Y v R— - - - -
5/ 7YIJRATO—R - - 87 1 1:26.5157.0 -
6| 970— = 6% | 1:19.7 | 55.0 - -
7|94 0L7UE - - 3% 11:26.252.0 -
8| PAT7IAN—AL 47& 11:09.6 | 55.0 7% 11:19.8 | 55.0 - -
9| RAIYvITF+— - - 67 | 1:26.3 1 55.0 4751 1:25.5 1 55.0
100 TLLSFFS = = = =
M| <aQvA>/FH= 57 11:10.0 | 55.0 - - -
12| NTLURX L = = = =
B ZY/hFr9= - 975 11:20.1155.0 - -
14| O0Y7— - = = =
15\ NAZTANSVT - - - -
@ 59141
k512000 512000 ZDfth
1 AZxNZOV 1:12.5 | AR | 2025838168 | dLli 1:21.3 | B | 913000 | 20245108148 | R
2| PUS—HTUwI 1:38.8 | F4EE | 515000 | 202542848 | )1l
3| ATVF A T—F 1:25.2 | & | 514000 | 2025568158 | BRER
4| PAT7— v R— 1:13.1 | & | 2025624858 | Ll 1:26.2 | 4 | 514000 | 20255245268 | /R
5|\ 7vIogxSO—R 1:12.5 | T4E | 2025848128 | toLl 1:19.0 | ARE2 | 51300M | 20254E5H258 | R
6| 90— 1:12.6 | T4 | 2025858118 1:12.3 | #4E | 2025648128 | il 1:19.7 | B | $'13000 | 2025865218 | 53R
71 94> 070UF 1:13.8 | #8& | 2025658175 1:13.3 | B | 2025548198 | ¢l 1:10.2 | AR | 911500 | 2024511838 | 88
8| PATIAIN—HL 1:13.1 | B | 20255558248 1:13.1 | B | 20258218258 | ALl 1:09.6 | B | 911500 | 2025578128 | 58
9| Rav v ITHE— 1:25.5 | AR | 914000 | 2025558318 | R
100 TLULSF+S 1:14.1 | B | 2025548208 | il 1:09.8 | B | 11500 | 20254678208 | 88
M vxOYHAS /TH= 1:10.0 | BB | 511500 | 2025878128 | 188
12 NXLYUR L 1:53.2 | B2 | £1700M | 20245115108 | 88
13| =Y/ h+H9= 1:20.1 | B | 51300 | 20258:6A218 | R
14| 097 —
15| NAMZA ST 1:29.8 | B2 | 14000 | 202552H8H | RR
@ 5% ERE/REIALA
e i1 5B =it 1 6
L—28 BEIAL REI(L L—2H BEIL BEIAL
R 5 1:11.5 | 1:12.4 39 1:10.7 | 1:14.4
fHE 0 19 1:10.5 | 1:12.9
= 0 2 1:11.0 | 1:11.6
B 0 0




